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REASONING ABILITY |

the

‘Directions (1-8) : In each of
following questioins, select the

related word/letters/number from

the

1.

given alternatives. y
Student : Book :: Postman : ?
(1) Delivery  (2) Bicycle

(3) Uniform (4) Mail

. Iliteracy Education :

* Drought : ?

{URIH ~ -(2)SHG
(BRIG (4 RHG
B. JTIS : HRGQ :: FFEO : ?
(1) DNCM  (2)DCNQ
(3)CNDM  (4).CNDQ
8. BAD : CBE :: ? : IVSU
(1}GOOD  (2)HSPR
(3)HALT  (4) HURT
7.5:30:8:7
(1) 14 (2) 50
(3) 69 (4) 80 *
8.12:30::2Q:?
(1)48 "(2)32 L\
(3)35 (4) 42
9. 3:28:577? i
mizm (2126
(3) 124 (4) 125

(1) Well (2)Rain

(8) Dam (4) River
Carpenter : Furniture :: ?
(1) Book : Author * °

(2) Magazine : Editor

(3) Cook : Soup

(4) Dam : Engineer

. LOM : NMK = PKI : ?

Directions (17-18) : Ir each

of the following fuestions, select

the

one which is, diffc:rent from the

other three responses.

10. (1) Cement
. [3) Gum

11.

(2) Glue
(4} Lock
(1) Biography

.(2) Phoicgraphy *

(3) Lithography

(4] Xercgraphy

13.

- 14.

186.

17.

19.

21.

.l‘p.,

T 18:

12. (1) Petrol - Car

(2) Coal - Engine,
(3) Smoke - Fire

(4) il — Lamp )
(1)23 (202
@19 (4) 17

(1) 6121 (2) 7384

(3) 1036 (4) 210
(1)21-98 (2)45-210
(3)7-29 (4)%F~128
(1) EBD (2) IPH.~
(3)GNO (41 Y¥X
()BQCR  (2) DSET
(3) FUGV . (4) HWEY
(WAEIU  (2) BCBF
(3)ACIU - (4) OIAF:

Directions (19-8@7% Tnn isach

of the following quest&ins. which
one of the given responges would be
a meandingful order of the follow-
ing words in ascendmg order ?

ion

1. Child - 2. Frofess

3. Marriag= 4, nfant

5. Education

(1),1/5,5,2. 4
(2)2.1,4,3.5
(3)4, 1752, 3
45,4, 1,3, 2
1. Flastering 2. Painting
3. Foundation 4,Walls
5. Ceiling

(1)1.2,3,4.8
(3.4.1,2,5 .
(3)3.4,5.1,2"
(4)5,4,3,2,1 '

If, the following wigs

Dictionary, wi I‘ﬂl be
- on third place 7 ;7

(1) KNOW (23 K

(B)KNIT (4] KNOB

Which one set of Jetters when

-sequentially plm!d-lt ithe gaps

in the given lettersiéries shall
complete it?o,

._bcc_aabc_w; ‘

(1) acbe

ach (2) abac
(3) abce

(4) acat

Directibne {23-28) : In each

of the following guestions, choose
the correct alternative from the giv-
en ones that will-complete the se-

5.

26.

27.

ries :
28. ACE, BDF. CEG, 2
{1) CED {2) DFH
(3y BEM (4) HED
24, AZBY, CXDW, EVFU. 2
i {1/ SHTG  (2) GXHW
(3) GTHS  (4) STHOD!

33.48.65.84,2.2

(1) 105,128 (2) 99,110

(3) 101,118 (4) 105, 126
2,10, 26, 50,2

(1) 74 " (2) 50

(3) 78 (4) 82

Find the wrong number in the
given number series :

© 2,10, 30,68, 120, 222

B

29

by

31.

(1) 68 (2) 120 '\

(3) 30 »-(4)222 7
Savitha introduced a boy as
the son of the only daughter
of the father of her maternal
uncle. How is boy related. to
Savitha ? -

(1) Brother (2) Son

(3) Nephew (4) Son-in-law
A father is three times as old
his son. Eight years ago, the
father was five times as old as
his son. What'{s the present
age of the son ?

(1) 12 years (2) 14 years

(3) 16 years (4) 20 years’

. From following alternatives

select the word which cannot
be formed using the letterg of

_the given word:

DEPARTMENT

(1) PART (2) TREAT
(3WMATURE (4) TAME

From the following alternativés
select the-word which can be
formed using the letters of the

given word :,

-EXPERIENCE
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of the following questions, find the ||

(1) EXPIRE

(2) PERCIEVE

(3) EMPIRE

(4) EXPENSE

If E=5 and TEA = 26 then
TEACHER = ?

(1) 75 (2) 59

(3)60 (4) 57

In certain code COMPUTER is
written as OCPMTURE. In that
code which alternative will be
written as OHKCYE ?

(1) HCOKEY (2] HYKOCE

(3) HOCKEY (4) HOYECK

. X stands for +. Z stands for +,

Y stands for —, and P stands
for x, then what is the value

of I0OP2X5Y5?
(1)10 (2)15
(3)20 (4)25

Some equations are solved on
the basis of a certain system.
Find out the correct answer for
the unsolved equation on that
basis.

If3:+5=5,4+7=88+7=6|

then, what should 9 + 6 be ?
ma (2)9

(3)5 4)6

Select the correct combination
of mathematical signs to re-
place * signs and to balance
the given equation :

28*4*9" 16
(1) + += 2)++=
(3)- (4)-=x

Directions (37-38) : In each

missing number from the given re-

sponses.
37. 8 15 22
29 ?. 43
50 57 64
(1)34 (2) 50
(3)33 (4) 36
s8. 7 9 '3
8 3 5
2 L
112 135 -S0u
(1) - (270
(3)60 - (4)65
38. A mar siarts from his house

and walked straight for 10
metres towards North and
turned left and walked 25 me-
ires. He then turned right and

walked 5 metres and again
turned right and walked 25
metres.

Which direction is he facing

cnow?
(¥)North  (2) East
(3) South (4) West
A and B start walking from the

3

41.

42.

«3) 8 km

same point. A goes north and
covers 3 km, then turns right
and covers 4 kms. B goes west
and covers 5 kms, then turns
right and covers 3 kms. How
far apart are they from each
other ?
(1)10km  (2)9 km

(4) 5 km

Five persons A, B, C, Dand E
are sitting in a row facing you
such that D is on the left of ¢
and B1is on the right of E. A1is
on the right of C and B is on
the left of D. If E occupies a
corner postion, then whe is
sitting in. the centre ?

‘(1A 2B
(8)C 4D
If Ram's house is located to the

- south of Krishna's house and

Govinda's ouse is to the east
of Krishna's house, in what
direction is Ram's house situ-
ated with respect to Gmnndas
house

(1} Nor Lh-East

(2] North-West

(3) South-East

{4) South-West

Directions (43-44] : In each |
of the following questions, two
statements are given followed by two
conclusions 1 and II. You have to
consider the statements to be true
even if they seem to be true even if
they seem to be at variance from
commonly known facts. You.are to
decide which of the given conclu-
sions; if any, follow from the given
-statements.

43,

Statements:

1. All children are students.
2. All students are players.
Conclusions:

I. All cricketers are students.

‘II. All children are players.

(1) Only conclusion 1 foliows.

(2) Only conclusign II follows.

(3) Both conclusions I and Il
follow.

(4) Neither conclissior | ner II
follows.

44. Statements;:

1. No teacher comes to the
schocl ofi-a bicycle.

2. Anand ceines to the school
on a bicyrle

Cronclusicns:

I. Anand is noig a teacher.

li. Anand is a student.

{1) Conclusion I alone can be
‘drawn,

{2) Coru:]ustcn Bl a.lone can be
drawn .

{3) Both .Conclusions can be
drawmn.

(4) Both Conc]usions .can not
be drawn.

Which answer figure will com-

plete the pattern in the ques-

tion figure ?

_Question Figure

Answer Figures :

@ |

=¥

(3) (4)

. Select the answer ﬁgurc in

which the question. figure is
hidden/embedded.

Buestion Figure

X
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(A

(1 (2)

(3) (4)

47. A plece of paper is folded and
cut as shown below in the
question figures. From the giv-
en answer f[igures, indicate
how it will appear when
opened?

Question Fign.l'el

(3)

48. Which of the answer figure is
exactly the mirror image of the
given figure, when the mirror
is held on the line AB ?

Question Figute

Answerlﬂ‘h.ru

(1) (2 @
{{g (4)

49. In the following question a
word is represented by only
one set of numbers as given in
any one of the alternatives. The
sets of numbers givenin the
alternatives are represented by
two classes of alphabets as in
two matrices given below. The
columns and rows of Matrix-1
are numbered from 0 to 4 and

from 5 to 9. A letter from these

first by its row and next by its
column, e.g., 'F’ can be repre-
sented by 14, 21, etc. and ‘E'
<an be represented-by 20, 32,
etc. Identify the set for the
word FIRE. mE
MATRIX-I

REIEIEEE
HEIEEIEIS

FIEIEIEIEIE
LIl 1S

1 A A O (=D =

b= |O

MATRIX-i!

»

Gy

b
Lio|H|Hiv e

a1

oloi~|aia]
FE

1 el B B0

(1)21,22, 88,33
(2) 14, 10,69, 13
(3) 338,34, 76, 22
' (4)02,/03,57.01
I B0, Which one of the following di-
agrams best depicts‘_thc rela-
tionship amorig people, wom-
en and mothers ?

T
(2)

fais

“(4) None of these

that of Matrfk-II are numbered |-

matrices can be represented

GENERAL AWARERESS |

B1. The value of a commodit}‘ex-
pressed in terms of money is

known as
(1) Price (2) Utiligyr
(3) Value (4} Weaith

B2. The Plannlng Commission of
India was established in the

“year :

(1)1947 | {2) 1949
(3) 1950 (iz) 1952

53. Green ‘ievo".mon was started
in

T (1)1860 - (2) 1970

{3) 1980 (4) 1990

54. The term of the Finance Com-
mission fs .
(1) Ten years
(2) Five years
(3) Six years
(4) Three years

B5. Reserve Bank of’ lndia was na-
tionalised in .
(1)1948 (2) 1947
(3) 1949 (4) 1950

'56. Who was the Chairman of the

Constituent Assembly ?"*

(1) Dr. B:R. Ambedkar

(2) Dr. Rajendr&Prasad - -

(3) Jawahar Lal Nehru

' (4) Vallabh Bhai Patel ' )

57.-Which one of the following
" methods is used to ascertain

the public opinion on impor-

tant legislation ?

(1) Initiative

(2) Recall

(3) Referendum

(4) None of the above .
58. Fundamental Dutfes were add-

ed to the Constitution by

(1) 24th Amendment

(2) 39th Amendment

.(3) 42nd Amendment

(4) 44th Amendment
89. The final authority to interpret

our Constitution is the

(1] President

(2) Parliament * - '~

(3) Pﬁme Minister

(4) Superme Court .
60- Compared with Society, the

scppe of State activity. is

(1) Wider* (2) Narrow

(3) Just equal -

(4) No comparison between the

two

aa T
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81. Seleucus Nicator was defeated

by
" (1) Asoka

(2) Chandragupta Maurya

(3) Bindu Sara

(4) Brihadratha .
682. The striking feature of the
Indus Valley Civilization was
(1) Urban Civilization
(2) Agrarian Civilization
(3) Mesolithic Civilization
(4) Paleolithic Civilization

83. The Governor-General who

abolished the practice of Sati
er :
(1) Dalhousie
" (2) Ripon
(3) William Bentinck
(4) Curzon

84. The famous Bhakti Saint who

belonged to the royal family of
Mewar was

(1)Chaitanya
(3) Meerabai

(2) Andal
(4) Ramabai

88. After Alexander's death the

Eastern part of his empire
came under

(1) Seleucus Nicator

(2) Menander

(3) Rudradaman

(4) Kanishka .

66. The TharExpress goes to

"(1) Afghanistan
(2) Bangladesh
(3) Pakistan
' (4) Myanmar
87. The product used for manufac-
turing of Industrial alcohol is
(1) Khandasari
(2) Bagasse
(3) Molasses
(4) Paper-pulp ;
. Guwahati is situated on the
bank of the river
(1) Teesta -
(2) Brahmaputra
(3) Hooghly
(4) Sone
Kanchenjunga is situated in
(1) Nepal
(2) Sikktn
(3) West Bengal
(4) Himachal Pradesh

70. With which set of following

i ceuntrigs has Arunachal
Pradesh common border?

4

(1) Bhutan, Bangladesh and
China .

(2) Myanmar, Bangladesh and

China:

(3) Bhutan Chma and Myan-
mar

(4) Bhutan, Bangladesh and
Myanmar

71. The green colour of the leaves

is due tp the presence of
(1) Proteins (2) Liptds
(3) Chlorophyil

(4) Carbohydrates

'72. The edible part of an onion is

(1) Modified root
(2) Aerial flower
(3) Aerial stem

(4) Fleshy leaves

78. To which group of blood an

74.

75

76.

8.

universal recipient belongs?

(1) A group (2) B group
(3) 0 group - (4) AB grroup
The normal body temperature
of human beings is

(1) 96.4 °F (2' 97.4 "F

(3) 98.4 °F 4 22.4 °F
Columba livia !s th.a scientif-

ic name of

(1) Pigeon (2) Snake
(3).Raribit, /(4) Shark

Bones are ‘pricumatic in
(1) Fishes :
(2) Amphibians

(3) Feptiies  (4) Birds:

- Name the process of produc-

cion of energy in the Sun

1) Nuclear fission

(2) Radioactivity

(3) Nuclear fusion

(4) Ignization

A spherical ball made of steel

when dropped in mq'cury con-

tainer will

(1) sink in mercury’

(2) will be on the surface of
mercury

(3)will be partly immersed

79.

mercury

(4) will dissolve in mercury
The sounds having a frequen-
cy of 20 Hertz to' 20,000 Hertz
are known as

(1) Audible sounds

(2) Ultrasonics

(3) Infrasonics

(4) Megasonics

80.

81.

84.

87.

Eclipses occur.due to which

optical phenormena? -

(1) Reflection  (2) Refraction

(3) Rectilinear propagation

(4) Diffraction

Which of the followinig produc-

es highest amcuni of energy

uporl oxidatlon?

(1) Protein 12) Fat

(3) Glucuse {4) An alkane

Pure wzter is bad conductor of

electricity berause it is

(1} fo=bly ionized

(2) not volatile

{3} a very good solvent’

(4) a non-polar solvent

Where 1s'National Chemical

Laboratory (NCL) located?

(1) Chandigarh

(2) Bhavnagar

(3) Pune

(4) Panaji

The metals cormmonly used for

electroplating are ;

(1) Gold, Sodlumand Chmm}»
um

{2) Chromium, Coppq- and
Nickel »-

(3) Nickel, Lead and Chromi-

_um

(4) Gold, Sodium and Potassi-

" um

Which of the following in au-

tomobile exhaust can cause

cancer ?

(1) Oxides of nitrogen

(2) Carbon monoxide

(3) Lead

(4) Polyciinic hydrocarbons

. Bleaching powder is used in

drinking water as a/an

(1) disinfectant (2) antibiotic
(3) antiseptic  (4) coagulant
Garnma rays have greatest sim-
flarity with

(1) o-rays

(2) p-rays

(3) X-rays

-(4) UV.-rays

In the absence of ozone layer,
which rays will enter into at-
mosphere?

(1) Infrared

(2) Visible

(3) Ultraviolet.

. (4)X-rays.
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88. Where are programs and data
to be used by the computer
available?

(1) Processing Unit
(2) Output

(3) Storage

(4) Input

. In HTML, <B> and </B> tags
display the enclosed text in
(1) black colour
{2) background ,

" (3) bold

(4) bright

Who invented chlorofom as

anaesthetic?

(1) James Simpson

{2) Edward Jennier

(3) Alexander Fleming

{4) Christian Barnard

91.

82, The Nobel Prize for Chemistry .

- for the year 2011 has been

awarder; (v

(1) Sau!
Schmidt and Aﬂam G.
Riess

(2) Bruce A. Beur.ler, Jules A,
Hoffmann and Rélph M
Steinman

'(3) Christopher A. Sims and
Thomas J. Sargent

(4) Dan Schechtman

Sebastian Vettel won the For-

mula 1 Indian Grand Prix held

at Greater Noida on October

30, 201 1. This was also his
. Win of the season.

(1) I0th  (2) Mth

(3) 12th (4) 13th -

Of which of the following

2

States of India is Kuchipqdl a’

dance-drama?’
(1) Orissa
(2) Andhra Pradesh
(3) Kerala =
{4) Tamil Nadu

95+ With which of the féllawing
was Satyajit FRay associated?
(1) Classical dance
(2) Journalism'
(3) Classica! music
(4) Directton of tilms

98. Census data released on July
15, 2011 yeflects that 13.48
percent urban population lives
in :
(1) Uttar Pradesh

~dmutter. Brian P. | .

3
! b i ]
| 103.When simpuned {256][ is

(2) Bihar
(3) Maharashtra
(4) Rajasthan,
. National Social Assistance Pro-
. dramme is aimed at providing
(1) financial support to Sched-
§ uled Castes and Scheduled
Tribes . :
(2) old age pension to very poor
(3) insurance for the poor-
(4) All of the above
98. As per studies, the Tumma-
lapalle mine in Andhra
Pradesh could have Ura.nium
'reee.rvc of
(1) 1 lakh tormes
(2) 1.5 lakh tonnes
(3) 2 lakh tonnes
(4) 2.5 lakh tonnes,

mous-Assamese festival ?
(1) Makar Sakranti
(2) Yugadi
-(3) Oham
(4) Rongali Bihu
100.The least populated State n
India is

(1) Arunachal Prade<i
(2) Sikkirm

(3F Mizorani .

(4) Uttarakisand

QUANTITATIVE APTITUDE

101.1{\409€ = 64, then value of

/A0 86 +/0.206 + /0.004006

+/0.00004096 18

(1)709 . (2)7.1014

(3)7.110¢ (4)7.12 -
ll'¥2.The value of «

ALE we T i

15 55 53 99 143 '®

M35 (2)§

2 7
Mg - Big

g E 1
(18 (2) 8

1
(3)2 (4) 2

Which of the following is a fa--

104.The number 2.52 , wheri writ-
ten as a fraction and reduced
to lowest terms, the spm of the
numerator and denotninator is
mz (2)22

. (3) 141 (4} 345

108.If the squars root of x 18 the
cube rgot of y, then the rela-
tion between xand yis
W=y 2=y
B x=y (4) X =1

.108. A and B odefnier can comnplete

awork In 12 days. A alone can
comglzte in 20 days. If B does
the work only half a'day daily.
then in how many days A and
B together will complete the
work 7
(1) 10days (2) 20days
(3) 11days - (4) 15days
107.A can do a piece of work in 70
days and B is 40% more effi-
cient than A. The number of

days taken by B to do the same
work is a
(1)40days (2) 80days
(3)50days (4) 45days -

108.A right circular cylinder. a
‘hemisphere and a right, circu-
lar cone stapd on thg same
base and have the same Feight.
The ratio of tleir volumes is
(1)3:6:1 (2)3:4:1
3)3:2:1 {(4)4:3:1

109. A cylinder has 'r’ as the radius

of the base and 'h' as the
height. The radius ‘of base of
another cylinder, having dou-
ble the volume but the same
height as that of the first cyl-
mde.-r must be eﬁ" al to

8 35
3 rfz

(2) 2r'

@ Jor

'110. Area of the base of a pyramid

is 57 sq.cm. and height is 10
cm, then its volume in cm®, s
(1) 57Q (2) 380
(3) 190 (4) 580.

111.1f th€length of the diagonal of

acubeis g3 cm, then ijs sur-

face area s :
(1) 192 cm?  (2) 512 cm?®
(3) 768 cm?  (4) 384 cm*
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112.The area of a circle inscribed
in a square of area 2 m? is
¢ r.o2 n_2
(1) 4“1 2) 2 m
(3 m? . (@) 2nm?
113.1f the numerical value of the
perimeter of an equilateral tri-
. angle is /3 times the area of
it, then the length of each side
of the triangle is
(1)2unit  (2) 3 unit
(3)4 unit  (4) 6 unit
114.An equilateral triangle is

drawn on the diagonal of a:
square. The of the area of the -

triangle to that of the square
18 :

()3:2 (242:43

@12:43 @1:42

118.For a certair arti¢le, if dis-
count is 25% the profit is 25%.

If the discount is 10% then the
" profit 1s
(1) 50% ‘2) 40%

(3) 30% (4) 33 331‘ %-

116.The price that Akbar should
mark on a pair of shoes which
costs him 1,200 to fain 12%
after allowing a’discount of
16% (in rupees) is .
(1) 1,344 (2) 1,433
(3)1.600  (4)1500

117.1f y: x=4: 15, then the value

x—
of [;1—3)“3
) b - 19
(1) 19 (2) 11
) 4 : ]5
(3) = {4] 36

118. Somc ca:pemers promised to
doajob in 9 days but 5 of them
were absent and remaining
men did the job in 12 days. The

original number of carpenters
was

{1} 24 (2)20

(q‘ 18 .

(4)18

"119. One third of a certain journey

is covered at the rate of 25 km/
hour, one-fourth at the rate of
‘30 km/Hhour and the rest at 50
km/hour. The average speed for
the whole journey is :
(1) 35 km/hour -

] "
2 33'5 km/hour
'(3) 30 kin/hour
(4) 37 12 km/hour
120. The average of two numbers is

62, If 2 is added to the small-

est number, the ratio between
the numbers becomes 1 : 2. The
difference of the numbers is
(1) (2)40 ™
384 (4) 24

121. The cost price of 25 artitles is
equal to the selling price of 20
of them. The gain or lcss per-
cent is given by "
(1)'20% loss (2) 23% min
(3) 60% loss (4) 75% gain

' 122. A shopkeeper makes a profit of

20% even after giving a dis-
count of 10% on the marked
price of an article. If marked
price 4% 506 thenthe cost price
‘of the article is

(1}7350 (2)2375
'13)7 125 (4)T475
123.1f 40% of (A + B) = 60% of
: 2A-3B ‘-
{A - B) then A+ B is
7 <.

Wy @z

5 6
@5 {4)"5

124. A number is first increased by
10% and then it {s further in-
creased by 20%. The original

number is increased altogeth-
er by :

(1) 30% (2) 15%
3)32% (4)38%

128. If a train runs at 40 km/hour,
it reaches 1ts destination late
by 1l minutes. But if it runs
at 50 km/hour, it is late by 5

minutes only. The correct, dme
(in minutes) for the train to
complete the journey is
(1) 13 £2) 15
*(3),19 To(4)2r”
128. A tree increases anrually. by

% .
3 th of its height. By how

much wiil { increase after 2
years, {{'it Sb.._.xld‘s today 64 cm,

'hlgh?

(1) 72-cm (2).74 ¢
(8175¢m -~ (4)8lem

127.1f 2=% = 32, ‘thm the value of
3 {5 egual to
()27 (2)81
{3) 72 4)9

128.If .rg+%= 2.x # 0 then value

o
of X +”;§" is equal to
(mi (2 2
(3)3 (4} 4

120.1f 2+2-1a20b#0 the
b a . i

value ofa9'+ bis
mo . @1
(3)-1 )2

130.fa*+ P+ +3=2(a+b+d

then the valueof (a+ b+ c) i

Tme (2)3
(3)4 (4)5 )
2p 1
—=—-. #0,
131.1f 2 —2p 2P then

1
the value of B+ ; is

(1)4 (2)5
(3) 10 (4) 12

132. The ortho centre of a right an-
gled triangle lies
(1) outside the triangle
(2) at the right angular vertex
(3) on its hypotenuse
{4) within the trtangle

133, Fhe angles of a triangle are
‘[ + 5)°, [(2x- 3)° and (3x+ 4)°.

. The value of x is
(1) 30 (2)31
(3) 29 (4)28
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134.Two line segments PQ and RS
intersect at X in such a way
tat XP = XR. if ZPSX = L RGX,
then one must have
(PR =08
{2}PS5S=RQ
(8) £XSQ = LXRP
(4] er(APXR) = ar{AQXS)
135.AD is thie median of a triangle
ABC and O is the centroid
such that AO = 10 cm. The
leirgth of OD in c¢m is
(1) 4 (2)5
(s (O

138.7The external bisector of /B |

and ZC of AABC (where AB and

AC exiended to E and F re-

spectively) meet at point P. If

ZBAC = 100° then the mea-

sure of ZBPC is

{1)50° (2) 80°

(31a0° (4) 100°

If tan (26 + 45°) = cot 39 where

(20 + 45°) and 36 are acute an-

gles, then the value of 6 is

(1)5° (2) &°

{(3)12° (4) 15°

138. One flies a kite with a thread
150 metre long. If the thread
of the kite makes an angle of
60° with the hérizontal line,
then the height of the kite from
the ground (assuming the
thread to be in a straight line)
is
(1) 50 metre

(2) 7542 metre

(3) 25 {3 metre
(4) 80 métre )
139.11 8 be acute angle and ©os &

137.

15
=17 then the vaiue of

cot (90° - B) is

2.8 8
N3 @3

V2 8/2
(3) —1-? (4) 7

140.1fsec’ 8 + tan? 0 = ]—% then

sec'p - tantp=

7 1.
- @5

5
3) 75
141.1f cos x + cos Y = 2, the value
of sin x + sin yis
(1o (2)1
(32 (4)-1
Directions (142-145) : The
following Pie-chart shows the land
distribution of a housing complex.
If the total srea of the complex is 5
acyes, exanune the pie chart and
answer the questions.
1]
AGBhuannos
(

(4) 1

i -
54
108

e
1Ei

Residental Area _ﬂ-l

G |
Commmercia! Avea ! ;}.
Road Area 4|
Gresn Zone ; ]
Water bedy Lo

142.The ratio cf area allotted for
residential and road purpose is

(114 (2)4:1

(313:5 (4)8:3
143.The percentage of the total

area allotted for water body and

green zone together is

(1) 35% (2) 30%

(3) 45% (4) 40%

144. Land allotted for green zone is
greater than that for commer-
cial purpose by

# 2
(1) 5 acres (2) 3 acres

4 3
(3) 3 acres (4) 7 acres

145. The total land allotted for res-
idential and commercial pur-
pose is

1
(1) 21 acres .

1
(2) 45 acres

Gross/Net I'rofit

3
(3) 2; acres

1
(4) 25 acres

Directions (248-120) : Study
the following bar grapt and answer
the questions. ’

Gross Profit and Net Profit of
a company in lakns of rupees for the

years 1994--1897:
M Net Profit

-
Gross
Profit

i
o

50
)
§. 40
E 301
< p— —— -
:5 20+
510

|
1994 ]935 1996 1997
Years —>

146.The year in which the gross.
profit is double the net profit

(1) 1997 (2) 1295

(8) 1996 (4) 1994
147.The percentage of net profit of

1995 as compared to the gross

profit in that year is

(1) 25.5% (2) 35.5%

(3) 37.5% (4) 42.5%

148. The difference of average gross
profit and average net profit
calculated for four years is
(1)2 18.751akhs
(2)7 19.75 lakhs

~ (3)720.5lakhs
(4) T 22.5 lakhs

149. The ratio of gross profit, to net

profit in a year was greatest in

the year
(1) 1994 (2) 1995
(3) 1996 (4) 1997

150. For the entire four years as
shown, the ratio of total gross
profit to total net profit is
(1)13:4 (2)11:6
(3)11:5 = (4)9:4
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| ENGLISH LANGUAGE |

Directions (151-155) : In the
following questions, some sentenc-
es have errors and some have none.
~Find out which part of a sentence

_has an error. The number of that |

part is your answer. If there is no

error, then your answer is (4) i.e. No |

mor‘ .

181, Neither of them (¥)/ are (2)/
good (3)/. No error (4)

162. Due to me being a new comer
(1)/ 1was unable (2)/togeta
good house (3)/. No error (4)

1B3. The circulation of The States-
man (1)/ is greater than (2)/
that of any newspaper. (3)/. No
error (4) 3

164.In the garden (1)/ were the

" more beautiful flowers(2)/ and |

silver bells (3)/. No error (4)
185, The poet (1)/ describes about
(2)/ the spring season (3)/. No
error (4) '
Directions (156-160) : In the
following questions, sentences are
given with blanks to be filled in with
an appropriate word(s). Four alter-
natives are suggested for each ques-

- . tlon. Choose the correct alternative

out of the four as your answer. .
156. The news was good to
be true.
(1) very (2) too*
(3) so (4) as
. 157.How much longer _. _
book ?
(1) you are needing
(2) will you be needing
(3) will you have needed
(4) have you needed.

_ youhearthe Presideni’s
speech ?
(1) Have
(3) Had (4) Did
188.1 ______ to the mowvies with

some friends last aight:
(1) have gone ~ (2) went

| this

158,

(2) Eas

(3)am gone ' ‘(4) am going
160.Shehasonly. . .~ friends:

(1) fewer (2) less

{(3) more 14) a few

Directicns {161-165) : In the
following ‘questions, out of the four
alternatives, choose the one which
best expresses the meaning of the
given word.

161.magnificent
(1) magnanimous
(2) modest
(3) generous
(4) splendid
162. spirited
(1) heated
(2) drunk
(3) enthusiastic
- (4) possessed
168. gloomy
(1) misty
(3) murky
164. grumble
(1) to scold
(2) to complain
(3) to sheer
(4 to fight
185. crude i
(1) unrefined. (2) cruel
(3) rude (4) savage
Directions (168-170) : In the
following questions choose the word

" (2).obscure:
(4) shadowy

. opposite in meaning to the given

word.
166.detest,
(1) test
(3) like
167.intentiona}
“ (1) actidental
(2) undecided
(3) covicenizated
(4) broken
168. com:nerice
1) start
{3} conclude
162, expand
(1) contract
(3) consist
170. prosperity
(1) propriety
(2) property
* (3) adversity
(4) perspicacity ~ 4

(2) dislike
(4) interest

(2) schedule
(4) dissolve

(2) contrast
(4) controv_ert

Directions (171-175) : lnt.he \

following questions, four alterna-
tives are given for the Idiom/
Phrase. Choose thée alternative
which best expresses the meaning
of the Idiom/Phrase.
171.to speak one’s mind.

(1) To be frank and honest

(2) To think aloud ..

(3) To talk about one’s ideas
. - (4) To express one's thoughts

172.to make a mountain <f &
molehill :
(1) to make advantagc of-a
small thing~ = o
(2) to give great impertance to
little things
(3) to get into trouhle
(4) to see & thing with preju-
diced miud E
173. hand in (,lo"..
(1) in clese relationship
(2) noti-cooparative
(3) eriticed
" (4)'on bad terms

| 174. to a6 fuel to the fire

A1) te make matters bright '

{2 to cause additjonal anger

{3) to bring matters to a con-
clusion _

(4) to start a revolt

‘175.wear and tear

.

(1) a brand name
(2) damage
(3) lot of sorrow
(4) a warning
Directions (176-180) : In the
following questions, part of the sen-
tence is printed in bold. Below are
given alternatives to the bold part
at (1), (2) and (3) which may improve
the sentence. Choose,_the correet
alternative. In case no lmprovemcnt
is needed your answer is (4)
176. A pair of shoes have been pur-
- chased by me.
(1) has been
(2) has being
(3) would been
(4) No improvement
177.When I shall go to Agra, Isha.'ll
visit the Taj Mahal.
(}) hgve gone
(2) shall travel
(3) go
(4) No improvement
178, You must apologiae Wwith him
for this." :
(1) to
(2) of
- (3)for
(4) No improvement - .
79.8inee he worked hard he
" failed to’secure good grades.
(1)As |
(2) When
(3) Though
. (4) No improvement

| -~
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. *180.The minister agreed will am-
swer questions on television.
(1) to answer
(2) for answering
(3) with answering
(4) No improvgment ‘

- Directions (181-185) : In the
following questions out of the four
alternatives, choose the one which
can be substtmted for the given sen-
tence.

181. A person who loves wealth and
spends as little money as pos-
sible
(1) Curmudgeorr
(2) Money-grabber
(3) Scrimp -~
(4) Miser

182.State of anxiety or dismay
causing mental confusion
(1) Constriction :

(2) Consternation
(3) Concentration
{4) Contraction

183. A person who is fluent in two
languages
(1) Versatile ~
(2) Expert
(3) Bilingual
(4) Knowledgeable

184.0One who eats human flesh
(1) Maneater (2) Cannibal
(3) Beast (4) Savage |

188. The quality of being politely
firm and demanding
(1) asser;ive (2) bassy-

(3) aggﬂsstve (4)lordy

Directions (186-190) : In the
following questions groups of four
words are given. In each-group, one
word is correctly spelt. Find the cor-
rectly spelt word.

186. (1) independance
(2) independence”

(3) independens
(4) indepandiince

187. (1) hypocrisy . (2) hypocresy
(3) hipocrisy {4} hipocrecy

188.(1) aeroplanie  {2) airoplane

v (3) aeroplainn . (4) airoplain
188.(1) loanly (2) lonly

(3) lonelie (4) lonely

190. (1) cerimony

(3] ceremony

(4) ccrlmpney_

{2) ceremoney ‘

Directions (191-200) : In the
following passage, some of the words
have been left out. First read the
passage over and try to understand
what it is about. Then fill in the
blanks with the help of the alferna
tives given.

“Quit India” came not from the
llps but the aching hHearts of mil-
lions, In this open rebellion, the
Inidan 191 reached its climax. The
British were not only 192 by it, but
also were obliged to quit unilater-
ally. The importance of Quit India
can be 193 from Lord Linlithgow's,
statement, “I am engaged here in
meeting by far the most 194 rebel-
lion since that of 1857, the gravity
and extent of which we have so far
186 Trom the world for reasons of
‘military security.” Still more slgnif-
icant was Churchill's gloomy disclo-
sure to the King Emperor thai, “the
idea of 198 of power had hecomne

British party leaders.” aithough his
public statements were dtametrical-
ly opposite. The 188 creat:d by Quit

| they could no lenger keep India..ir‘l :

200. /
191. (1) freedomn
(3) iberagior:
182. (1) threatened
(2ir: spued
(3) atiacked
{4) tinpressed
193. (1) diffused  '(2) gauged
(.3) established (4) determined

(2) patriotism
(4) revoh_,ltlon

'194. (1) trivial
(2) magnificent
I~ "(3)serlous
1 " (4) auspicious
195. (1) excluded  (2) elicited
(3) prevented  (4) concealed
196. (1) transfer  (2) seizure .
(8) grabbing '~ (4) retainment
197.(1)tactics (2) fantasy "
(3) inevitability L
(4) eccurrence .
188, (1) violence (2) taboos
(3) vengeance (4) anarchy
198, (1) imagine = (2] pretend
(3) realise “ {4) ansious
200. (1) power (2) bondage -
(3) exile (4) suspense

.»—__:_g ANSWERS ==

1. (4

2.(2)

3 (3

.2 (3

B. (1)

6. (4)

7.13)

8. (4)

9. (2)

10. (4)

31 (1)

12. (3)

13. (2)

14. (1)

1IR3

16. (3)

17.4)

18. (2}

18, (3)

20. (3)

21. (4)

22, A’Q'

23. (2)

24. (3)

28. (1)

26,14}

A

27.(2)

28:(1)

29. (3}

3G, (3

31.(1)

32. (3)

33. (8)

34.(9)

38. (1)

-86. (1)

| 87. (4]
41, (4 (4)

1] 38

38, (2)

40. (2)

42, (4)

43. (2)

T 44. (1)

22 a)

48. (2)

47. (4)

48. (2)

CUNE)

50. (2)

B1.(1)

52. (3)

853. {1)

84. (2)

B55. (3)

B6. (2)

B7.(1)

B8. (3)

58. (4)

80. (1)

61. (2)

62. (1)

83. (3)

64. (3)

- 88.(1)

66. (3)

67. (3)

88. (2)

89. (2)

70.(3)

71. (3)

72. (4)

73. 4

74. (3)

78. (1)

76. (4)

an admitted 197 in the minds of-

77. (3)

78. (2)

79.01)

B80. (3)

81. (2)

82. (1)

83. (3)

84. (2)

85. (4)

86. (1)

87. (3)

. 88. (3)

89, (3)

90. (2)

1. (1)

02:14)

India‘ made the British 1899 that-

23. (2)

84. (2)

5. (4)

96,(3

97. (2)

88. (2)

99. (4)

100. {2)

101. (3)

102. (1)

103, (4)

104. (1)

108. (1)

106. (4)

107. (3)

108. (1)

109. (3)

110. (3)

111. (4)

112. (2)

1 113. (3)

114. (3)

118. (1)

118. (3)

117.(1)

118. (2)

118. (2)

120. (%)

121. (2).

122. (2)

123.(1)

124. (3

128. (3)

126. (4)

127. (1)

128. (2)

129. (1)

130. (2)

131. (3)

132. (2)

'133. (3)

134. (2)

185. (2)

136.'(9)

137.(2)

138. (2)

138. (2)

140. (1)

141. (1)

‘143, (2)

143. (111144 4)

148. (3)

146.(1)

147. (3)

148, (4) |

149. (1)

180. (3)

181, (2)

152, (1)

133. (3)

184. (2)

1585. (2)

158. (2)

157. (4)

158. (4)

158. (2)

160, (4)

41861 (4)

162. (3

183. (3)

164. (2

186. (1)

168. (3)

167. (1)

168. (3)

168. (1)

170. (3)

171. (1)

172. (2)

173. (1)

174.(2)

175. (2)

176. (1)

177. (3)

178. (1)

179. (3)

180. (1)

181. (4)

182, @)

183. (3

184. (2)

| 188. (1).

186. (2)

187. (1)

188. (1)

189. (4)

180. (3]

181. (2)

182. (1)

183. (2)

184. (3)

195. (3)

196. (1) | °

197.-(3)

188. (4)

200. (2)

298. (3)
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= EXPLANATIONS B

1. (4) Students carry and study

books. Similarly, Postman car--

ries mails.
2. (2) Illiteracy is warded off
through education. Similarly,
" Drought s warded off by rain.
3. (3) Carpenter makes furniture.
Stmilarly, Cook prepares soup.
“In this problem Worker-Prod-

uct relationship has been |

shown.
4. 3)) L O M—N M K
: 2 A
o)

Similarly,
PKI—RIG
: | +2 A

7.(3) (5% +5=25+5=30
Stmnilarly,

(82 +5=¢4+5 =[69]
8. (4)3x4=12
5x 5=30
4x5=20

6x7=[12]

9. (2)(3P+1=27+1=28
Similarly,

5P +1=125+1=126

(4) Except Lock, all others are
used to stick something or
pasté something on the other
thing.

10.

11. (1) Biography is an adcount of

life of somebody, while all oth-

ers are different techniques of

> printing.

12. (3) Smoke comes out of Fire.
Pétrol is used to run car. Sim-
ilarly, Steam engine runs on
coal and oil is bumnt in Lamp.

,18. (2) Except the number 25, all

others are Prime Numbers. The
number 25 is a perfect squaze;

14. (1) Except the number 61%1,
all other numbers are &ven
numbers.

98 210 )
15. [3].5 = 4.666 ‘:E =4.606 .

126
57 4666

29 layag

Z

16.-(3) E—25B—2 4D
s S H .
p—=S yn—dt o
y—3 v Ay

+1 4. ' +1

7.4 g ¢c R:D SET

1 A L 4

%1 = +1

+l: :

18. (2) Except the letter group
BCDF, in all other letter
groups there are only Vowels.

19. (3) Meaningful order-of words .
in ascendirtg order :
4. Infant
d
1. Child
d
5. Education
1 ;
2. Profession
1
3. Marrzjge
2C. (3) Meaningful order of words
in ascending order :
3. Foundation
4. Walls
J'.'
5. Celling
i I
1. P]astqring
iR

2. Painting .

21. (4) 2. KNACK — 3. KNIT —
4:KNOB — 1. KNOW

22. (3)

[a]bec[B]a/ abe[c]ba /ab[c]
23. (2) A+ls ptlsc Ly -
cHspts g 2llF|

E+l F+1!G+13H

o

24. (3)

A—*25 c 22 E 1250
z—=25>x"2>v =231
B—i’ Di) F _"‘._)H
S

y—=2pw—=25p—2»
25. (1)

33 48 65 -84 [105].[128

+15 +17 -;-19 +21 +23 .

* + +2 +2
28. (4) 9 J¢0 6. 50

*8 416 +28 +32

+ +9 +
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27. (2)

2 10
L N
+8

L

30 68 [130] 222
i

+201 +38 462 +92
i N ;N O,

+12 +18 424 +30

+6
Therefore, the number 120 is

wrong in the series.

. (1) Only daughter of the father
of Savitha's maternal uncle
means the mother of Savitha.
Therefore, the bay is brot.hcr of
Savitha. -

(3) Suppose the preaent age of
the son is xyears.
Therefore, the present age
of father will be 3xyears.
According to question
5(x-8) = '
= 5x-40=3x-8

= 5x-3x=40-8

= 2x=232

+ +6

x=%r‘-'-=16ymm

30. (3) There 1s no ‘U’ letter in the
keyword. :

31. (1) There is no V" letter in the
keyword and hence the word
PERCIEVE cannot be formed.
There is no ‘M’ letter in the
keyword and hence the word
EMPIRE cannot be formed.

There is no ‘S' letter in the
keyword and hence the word ;-

EXPENSE cannét be formed.
(3IE=5,
TEA=20+5+1=26
Therefore,, TEACHER

= 20+5+1+3+84+5%18 [

=60

0] P MT UR E
Similarly,

34. (3)

Z= +
P=x

10P2XBY5="
= ?=10x2+5-5

= ?=2045-5=

35. (1)3+5=3x5=1[5]

4+7;;4x7=2'

8+7=8x7=5[6]
Therefore,
9+6=29x6=5 LT_l
38 (1)28 +4+9=16
= 7+9.= 16
37. (4) Columnwise
First-Column
8+21=29;29 "'.21 = 80
Second Column:
15+21= [36]:36+21=57
Third Columr:
22+21=43;43+21 =64
88, (3) Columnwise
First Coluran : 7 x8x2=112
Second Coluran-
:9xEx5=135
Thirg Column
:3):5’x?=900

900
L P==—=60
15

X=+
Y==-

38. (2)

10!!1 W
9 Souths

House
He is facing East.
40. (2)

....................

5km B starting Point

Required digtance
=(5+4) km
=9 km

41. (4)

15y

s
»
B
ol
P

Fam’s house is to the South-
West of Govinda's house.
l-48. (2) Both the Premises are Uni-
versal Affirmative (A-type).

All children aalré students.

All students are players,

A+A= A:type of Conclu-
sion
“All chﬂdren are playérs.”
This is Concluslon IL. -
44. (1) Itis clear that Anand is not
ateacher. Anand may be a stu-
dent or clerical staff.

46. (2)

1_

49, (4) F= 02, 14,21, 33, 40
I= 03, 10, 22, 34, 41
R= 57,69, 76, 88,95
E=01, 13,20, 32. 44

Option | F | I |R | E
(1) |21|22|88|3s
2 14 | 10 [ 69 |147
@) - | 33|34 | 76|22
(4) 02403 |57 |01




SOLVED PAPER : FCI ASSISTANT GRADE-II EXAM

50. (2) All momcrs'are ‘women,
All women are people.

B1. (1) Value “in exchange" is the
relative proportion with which
this commodity exchanges for
another commodity (in other
words, Its price in the case of

money).

B2. (3) The Planning Commission |~
was set up on 15 March 1950,
with Prime Minister Jawahar-
lal Nehru as the chairman.

B3. (1) The Green Revolution re-
fers to the increase in food pro-
duction and in production of
non-food items that has sig-
nificantly and steadily taken

place in India since 1966.

2

.3

Assembly.
87

-

scite).

58. (3) The Fundamental Duties of
citizens were added to the Con-
stituticn by the 42nd Amend-
ment in 1976, upon the rec-
ommendations of the Swamna

Singh Commjttee.

(2) As per the Constitution, the
commission is appointed etery
five ysars and conststs of a
chalrman and four other mem-

t3) Reserve Bank of India was
nationalised in the year 1949.
B56. (2) Dy. Sachchidanand Sinha
was the first president (tempo-
rary chairman}-of the Constit-
* uent Assembly when it met on
December 8, 1946. Dr. Rajen- |
dra Prasad then became thie
President of the Constituent

(1) In political science, an ini-
tative (also known as a popu-
lar or citizens' imitiativej i a
means by which a pecition’
signed by a certain minimum
number of. registered voters
can force a public vote (plebi-

81

8

3

(4) The Supreme Court of In-
dia is vested with the author-
ity to interpret the Constitu-
tion and ensure that laws ad-

here to the spirit and letter of

the Constitution.

. (1) state is the conceptual unit

of politics, the most inclusive
organisation- in any society
that is recognised as having
final say.

(2) He was defeated by the em-
peror of India, Chandragupta
Maurya-and accepted a matri-
niony alliance for 500 ele-
phants after ceding the terri-
tories considered as part of
Jndia,

(1) The most striking feature
of the Indus valley civilizatior:

was' found that emphasis on.

the-organization of evervday
civic life.

»(3) In their own sphere of in-

fruence the Portuguese, Duitch
and French bannsd San but
efforts to stamp cut Satl were
formalised oniy urder Lord
Willam Bentihck,

- (3) Meera, a Rajput princess

was born in Kudki (Kurki), a
little village near Merta City,
which is presently’in’ the Na-
gaur district of Rajasthan in
northwest India.

- {I) Atter the death of Alexander,
Seleucus was nominated as-

the satrap of Babylon in 320
BC.

(3) Thar Express is an inter-
national train that connects
Karachi, PaRistan to Bhagat
K Kothi, Indta.

(3)-All beverage alcohol and’

much of that used in industry
is formed through fermenta-
tton of a varlety of proqucts
includihg grain such as corn,
potato mashes, Truit juices,
and beet and cane sugar mo-
lasses.

(2) The city is situated between
the' southern bank qf the
Brahmaputra river and the
foothills of the Shillong pla-
teau.

(2) Kanchenjunga is the third
highest mountain in the world,

73. (4)

located along the India-Iepal
border in the Himalayas.

70. (3) It shares international or-

ders with Bhutak: in the west,
Burma in the east and the Peo-
ple's Republic ¢f China in the
north.

71. (3) Chlorophiyii i a green pig-

ment found in aln:iost all plants,
algae, and cyanchacteria.

-72. (4) The edible portion is swol-

len leaves with a bit of stem.
Althouglh those with AB
blood type may be referred to
as upiversal recipients, in ac-
tuality, type AB+ blood is that
of the universal recipient,
whereas type AB- is not.

74 (3) The normal core body tem-

perature-of a healthy, resting
adult hyman being is stated to
be at 98.6 degrees Fahrenheit
or 37.0 degrees Celsius,

76. (1) The Rock Dove (Columba

livia) or Rock Pigeon is a mem-
ber of the bird family Colum-
bidae (doves and pigeons).

76. (4) Many of a bird's bones are

pneéumatic, with struts across
their hollow 1ntcr1qu to pro-
vide a combination ;f light

weight and #frength as an ad-
aptation to flying:

77. (3) Nuclear fusion is the pro-

cess by which two .or more
atomic nuclel join together, or
"fuse”, to form a single heavi-
er nucleus,

78. (2) The ball will float on 'mer-

cury because of dlﬂ'crent den-
sities.

I'm. (1) The human éar can respond

to minute pressure variations
in the air if they are in the
audible frequency range,
roughly 20 Hz - 20 kHz.

81. (2) Fats have the highest

amount of energy per gram of
consumption.

82..(1) Pure or a distilled form of

water is a bad conductar of
electricity because in pure
fo orm ofwater there are no free
Jons *

‘83. (3) The National Chemical Lab-

oratory (NCL) is.an Indian gov-
ernment laboratory based in
Pune¢..in wegtern India.
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84. (2) Among the metals most
cbmmonly used for plating are
zinc, nickel, chromium, cadmi-
um, copper, silver, and gold.

(4) The U.S. Department of
Health and Human Services
states that some Polycyclic
hydrocarbons may bé carcino-

gens in humans and animals.

and can cause harmful effects
on skin and the auto-immune
system. -
(1) Calcium hypochlorite is
. used for the disinfection of
drinking water or swimming
pool water.
(3) In the past, the distinction
between X-rays and gamma
rays was based on energy (or
equivalently frequency or
‘wavelength), with gamma rays
being considered a higher-en-
ergy version of X-rays.
(3) This layer absorbs 97-99%
of the Sun's high frequency
ultraviolet light, which poten-
tially damages the life forms on
Earth.
{3) Computer data storage, of-
ten called storage or memory,
refers to computer coriponents
and recording media that re-
. tain digital data. !
1. (1) Simpson discovered the
* anaesthetic properties of chlg-

3

-

8o.

roform and suceessfully intro- |

duced it for general medical
use,

Chemistry was awarded to Dan
Shechtman "for the discovery
of Quasicrystal®. ;
(2) The win at the Budda In-
ternational Circuit {BIC) was
Vettel's 11th win this year and
put him on courseto equal the
reeord for the mast number of
wins in one F1 season.

(2) Kuchipudi is a Classical
Indian dance foerm Andhra
Pradesh, India.

(4) He was an Indian Bengali
filmmeksr. He is regarded as
one cf the greatest auteurs of
20th century cinema.

. (3¥ - The data reflects that
' 18.62% of the country's rural

2

(4) The 2011 Nobel Prize in |

population lives in Uttar

Pradesh and 13.48% urban

population lives in Maharash-

tra.

(2) The National Old Age Pen-

sion Scheme provides a pén-

sion for the elderly who live
below the poverty line.

. (2) The Department of Atomic
Energy (DAE) has estimated
uranium reserves of the mine

- at 150,000 tonnes, which are
one of the largest in the world.

: (4) Rongali Bithu (mid-April,

-

also called Bohag Bihu), the |

most popular Bihu celebrates
_ the onset of the Assamese New 4
,Year
100. (2) With around 600000 inhab-
itants, Sikkim is the least pop
ulous state in India and iie
second-smallest state aiter
Goa in tptal area.

3) Given. 4096 =54
2 J40.96 +/0.4095 +

J0.004096 + /200004096
=6.4 + 0.64 + 0:064 +0.0064
=7.1104

101.

ot
9x11 11x13

.1 E1 L. 1
‘789 13

11.711
<

‘ 1 1 t
=(256} 8 ='—__T='_1=-§"
(256)8 (2%)8
52 250
104.(4) 2. 52 2@' o
chun%d sum
= 250.+ 99 = 349

105. (1) Vx =3y’

|-
L |

=x2=y

1
= (x2 )8
=3 =1
106.(4) B's 1 ciay’s work

1
= (y3)“5

.'B’s 7 dayswork =G]O'

L £A+B]s 1 day's work
_3+1_ 1

B works for half day daily
*. The work will be completed
in 15 days.
107.(83)A: B=D,: D,
= 100:140=D,: 70
=5 100 x 70 = 140 xD,

100x70
140

= D, =50days.

108. (1) If the radius of the hemi-
sphere be runits, then
height of cylinder,and cone

=r units
.. Required ratio

v 1
==1|:r3h:21tr":§'1ﬂ""h

1
=1-u-":21u'3:5ﬂra
=3:6:1

109.(3) If the radius of the new
cylinder be R then,
2nr2h = tR%h )
= RE=2P=R= J3r
110.(3) Volume of the pyramid
l

height x area of the base

W

;:"5 x10x57 =190 cu.cm.

| 111, (4) If the lepgth of the edge of

cube be x cm, then
diagonal =V3x cm

J§x=§f§==>x=8cm
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. Surface area of the cube
=632

=6x8x8

=384 sq.cm

112. (2) Side of square = J'; metre
Radius of in-circle

2 1

2 2

Area of the circle = nr?

=gx_l.=

n
5 =3 Sq. metre.

113. (3) If the side of the equilater-:

al triangle be x units,
then,

3x=»f§[«‘—?—x2J
=3x= %

= X =4 units
114. (3) If the side of the-square be
x units, then '

diagonal =42x units

.. Area of the square = x?

and area of triangle
= E W2x)?
J_ 3x

. -Requlred ratio

sq. units

=2:43 -

118. (1) If the marked price be Rs.
x and cost prige be Rs, 100,
then,

xx75 _
oo =1
=125x100 _p 500
78 "3
S.P. after 2 discount of .10%
500 . 90
=—--x——=Rs.150
3 100

. Gain per cent = 50%

116.(3) Let the marked price be

Rs. x.

: 84 1200x112

S XN e F e
- 100 100

84
= xXx—=112x12
100 -

112x1200

o = Rs.1600

=X=

117. (1) y:x=4:15=x:y=15:4 |

By componendo and divi-

dendo,
x-y _15-4 11
x+y 15+4° 19
J118.12) Let the original number of
carpenters be x.
M,D, = M;D,
= xk9 (x~5) x 12

= 9x=12x-60
= 3.:_:-60 = x=20

1189. (2) Let the total distance be x
km.

5x

S TN
Total time 25+3°+50

x X

2
75

X

X
=l
120

756

120, (*) Sum of the numbérs = 124

If the larger number be x, then

smaller numberi= 124 - x
L 124=x+2 _1
= x T2

=% 252 -2x=x

nax 252 = x=84
Smaller number

T =124-84=40

< Difference =84 -40 =44

| 121.(2) Percentage profit

_25-20
~— ——— %100 =25%

122.(2) If the cost price of article
be Rs. xthen

500x90 _ xxl2~’}
100 100

6x
= 450 = —
y 5.

= 6x=5x450

Sx4

~—= " =Rs.375

=
5.

ViR 40
123. (1) (A'+ B} x.loo

60
=B X Toq «

= 2A+B=3A-B)
= 2A+2B=3A-3B

= A= 5B
.2A-3B _10B-3B
" A%B 5B+ B
<IB_ T
6B 6
124.(3) Required percentage in-
Crease
= 10x20Y,
= (10+20+ 100 )&t
=32%
125. (3) If the distance be x km,
then
XX, 8
40 50 60
o,
%I = g =1
© = x=20 km.
* . 'Required fime

=(%) hour - 11 qﬂnute.s

1
= [E x60-1 1] minutes

= 19 minutes

1286. (4) Height of tree after 1 year

a64 + 64 x% =72cm
Height of tree after 2 years
1
=T2+72x~—=
i &

=72 +9=81cm
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127.(1) 293 = 32'= 25 ‘
= x+3=5=x=5-3=2
. ?’m1=3a=27

128.(2) x+i=2

= 13+I-2x=;x" 2x+1=0
= (x=1)2=
=x=1

=(a+b (@®-ab+ b =0
190.(2) a2+ P + 2+ 3
=2a+2b+2c
= a-2a+1+H- 2!::‘1-1+c:2
—-2¢+1=0 -
={a-12+((b-12+(c-1)2
=0
=a-1=0=a=1;
b-1=0=b=1
and, ¢c-1=0=c=1
S a+b+c=3

131.(3) *i‘

2p
pl-2p+1
p2-2p4
=___p 21”1:4
2p

:'|:32—2p+l &

= 8.

=;p+l=a+2—'19 :
P
133. (3) Sum of a:ng,les of e triangle
=180° .
. X+5+2x- 3+3x+4
= 180°
= Bx+5=380°
= Bx= 180--6=174°

174.
e —— =09
=X 6

134.(2) p, : S

XP =XR
. ZXPR= AXRP

If zPSX ZRQX,

then, PS = RQ
, 185.(2) D, is I:hc mid- point of side
BC.' .
Poinit O 5 the cerntroid that
divides AD in the ratio 2 : 1.

th AABC,

cLh=x /B=1y, £C=2
In APBC, b
ZPBC + ZPCB + /BFC = 180°

2
£BPC ' ,
= 180°
=b£EBC+4F‘CB+2£BPC
_.3600
= (180°- y) + (180° - z) + 2
£BPC =360°
= 360°- ly+zj+2::BPC=360
=2/BPC=y+z
= 2/BPC = 180° x
= 180° - /BAC

A ZBPC= 90“--% £BAC

T ~=90°-50° = 40°

» % v “
=% ZEBC + + LFCB +

187.(2) tan (20 + 45°) = ¢ot 30

- =tan (90° -
= 20+45°=
= 56=90°-
s 8=9° E

138, (2) AB = Length of the thred =
-150 metre
£BAC = €0°

36) .,,
90° -
45° = 45“'

= BC=]50x-"’2—§=75J5meB-E y
3 15
139. (2) coso =17
O
SRCm g 18
. cot190° - @) = tan ©
o '
= (]—7.J =1= Eg—l
\ 15 4225
’289—-225 ’64 8
Z——————— s ___
225 295 18
140.(1) sec?6 - tan20 = 1
7
sec2d + tan?0 = E
- sec*0-tan‘e
= (sec?0 —tan?0) (sec?0 + tan?6)
z'lxl=l
12 12
141, [1]cosx+cosy 2
FCOS X < 1
ﬂcosx =1;cosy= ]
=2R=y=0® . ;

< sinx+siny=0 "
142. [2) quutred ratio
=144:36=4:
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1483. (1) Required percentage
18 +108
=———x100 =35%
360
144.(4) Difference in the angles
allotted for green zone and
commercial purpose
=108 -54 = 54°
.+ 360°= Sacres
5

3
s Bltu—> xba=S
':ae.ox 3 wored

148.(3) - 360°= 5 acres
s 198° (= I44°_+ 54°)
5

11
o e

3 2
=2—
7 acres

146. (1) In 1997,
Gross profit = Rs. 50 lakh
Net profit = Rs. 25 lakh
147. (3) Required percentage

=15 100=37.5%
20

148.(4) chuired difference

- Ra.i-, {20 + 25 + 20 + 25) lakh

=%x90 = Rs.22.51akh

140. (1)Gross profit : net profit
Year 1984 =3:1
Year 1995=40:15=8:3
Year 1996 =45:25=9:5
Year 1997 =50:25=2:1
1B50. (3) Required ratio
=165:75=11:5
181, (2) After either of, cach of and
neither of, plural subject is
used, but the verb is singular.
Hence, 18 showuld be used here.
182. (1) If a pronoun (I, we, you, he,
she, it etc) comes before a
Gerund (~ing foriuj, then it is
- in the form of possessive ad-
Jective (F‘W our, your, his, her,
its etc). ilence, Due to my be-
.ing a new comer .... should be
used lisre.
183. (2} Here, that of any other
newspaper .... should be used.

154. (2) Here, there were more

beautiful flowers....... should
be used. Use of article ‘the’ is
not proper.’

185, (2) Here, describes should be
used.- Use of preposition
‘abouf’ is 'superfluous.

156. (2) Look at the sentence.
The fact 15 too evident to re-
quire proof. =
Here, ‘too’' means : more than
required.
too + adjective + to gives a
negative sense.

'161. (4) The word Magnificent (Ad- |
Jective) means: extremely at- |

o

tractive and impressive; de-
serving praise; splendid.
Look at the sentence :

The Taj Mahal is a magnificent
building.

| 162.(3) The word Spirited (Adjez-

tive) means : full of ¢ nerg'y
determination or murah
thustastic. y
Look at the seutense :

She put up a spiriied defence
in the final game.

163. (3) The word Gicomy (Adjec-
tive) means : depressing;
nearly dark or badly lit in a way
that makes you feel sad; glum;
murlky.

Look at the sentences :
it was a wet and gloomy day.

Suddenly the future didnot

look so gloomy after all.

164.(2) The word* Grumble (Verb)

fneans : to complain about
somebody/something in a b-ad
tempéred way.

. Look at the sentknces :

" She is always grumbling to me
about how badly shc is treat-
ed at work.

165.(1) The word Crude (Adjec-
tive) means : unrefined; vul-
. gar; simple and not very accu-

. rate.

186.(3) The word -Detest W.erb]-

means : to hate somebody/
something very much; loathe;
dislike.

Look at the sentence :

They detested cach other on
sight. "

Its antonym shouid be Ixe.

167.(1) The word Inteztionul (Ad-
jective) means : done delib-
erately; deliberate; intended.
The word Zccidental (Adjec-
tive) mdans : happening by
chance “not planned.

168.(3) The word’ Commence

(Veri) means : to begin some-

thing: start.” - -

The word “Conclude (Verb)

means : to come to an end; to

biing something to an end.

168, (1) THe words Expand and
Contract are antonymous.

170.(3) The word Prosperity
(Noun) means : the state of
being successful, especially in
making money; affluence.
The word Adversity (Noun)
means : a difficult or unpleas-

‘ ant situation.

Look at tha'untene'e-

Our future ty nepends
on emnongns i

He overcame many personal
adversities. -

171.(1) Idiom speak your mind
means: to say exactly what
you think, in a very direct way.

172.(2) Idiom make & mountain
out of a molehill means : to
make an unimportant matter
seem important.

173. (1) Idiom hand'in glove means
: working closely with some-
body, especially in a secret’
and/ or illegal way.

174.(2) Idiom add fael to the fire
means : a thing that is done
that makes something (an ar-
_gument) get worse.

178.(2) Idiom wear and tear means
the damage to objects, furni-’
tu&e. property etc. that is the
result of normal use.

Look at the sentence :

The insurance policy does not
. cover damage caused by nor-

mal wear amd tear.



